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o

AR QIS AL X & 2,000 0 2,000
1,400
300
300

HH A

307 glztol & 2,000 0 2,000
1,400
300
300

HH A

AFAFE 2 & 2,000 0 2,000
cl SEIUR AEA 2,000

1,400
300
300

MW

stusize X& 39,000 39,000 0

19,500
19,500

UL

402 212t Xt=01& 39,000 39,000 0

19,500
19,500

EUNE

01 2T EAEEX 39,000 39,000 0

Onlsternm KXl 2tel 15,000
7,500
7,500
OFetern KXl 2el 12,000

Mo




fAH: S2st22 1
M 2594 BEFY
& 2R ES2e CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 6,000
s 6,000
OgZetn S 2e 12,000
< 6,000
s 6,000
XS OHSA o232 32,000 0 32,000
= 16,000
s 16,000
307 21201 A 32,000 0 32,000
= 16,000
s 16,000
02 It S AIHE L 32,000 0 32,000
OXYOISAMAR(EEA)XE 32,000
< 16,000
e 16,000
A EXNS & HEME S4 1,515,227 1,462,924 52,303
J| 134,855
= 18,356
s 1,362,016
HM=CHal HE 160,200 113,100 47,100
d=H2 MU iz 2,200 2,100 100
202 O4dl 2,200 2,100 100
01 = LH 4 HI 2,200 2,100 100
2E M=Edsge =2 2,200
=R HSs0al = 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZFHALAIH 2 = 20,000 0 20,000
OUMZMEH IS K& 20,000
WADE=EFEM WLMZI] AILHIEZUS 35,000 38,000 A 3,000
307 21201 A 35,000 38,000 A 3,000
04 QIZFHALAIH B = 35,000 38,000 A 3,000
O D==FH WLZFI| dIEHS U 35,000
dIAHL U 36,000 36,000 0
307 21201 A 36,000 36,000 0
04 QIZFSHALAIH B = 36,000 36,000 0
OS2 36,000
OttEM =2 HEX & 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O D==H OtetEUS WX 10,000
WHEZ DT 8= S35 2303 WA 10,000 10,000 0




2AMd: 2322
M APENS Y MENS 84
el MsHE Ofz (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 10,000 10,000 0
04 RIZFHALAIH E = 10,000 10,000 0
OUMEZINFH 83 52 23U 10,000
AYaZD| S=EM4EHs et 2203l 10,000 6,000 4,000
307 21201 A 10,000 6,000 4,000
04 QIZFHALAIH B = 10,000 6,000 4,000
OudtzZ=)| SSUEMS == H 3 10,000
T B2 MSEA OHE X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
Ok &9 MsdA Mzl XN 5,000
Ao =HE HOHel ESUal M= 4,000 0 4,000
307 glz2tol & 4,000 0 4,000
02 It HAHE X 4,000 0 4,000
OuatzZt HoHe! E=UHa Mzl X2 4,000
M13s SHEZ XA SF2UE = X 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
OHM132 SE=SXAI S0 WX 10,000
H16aSH =SS MEMS T SURAHB0ZFAUE 8,000 0 8,000
= XI&
307 g1+l & 8,000 0 8,000
04 DI2HHALALSE E X 8,000 0 8,000
OHM16sl SESEMENSIIEH BLISOHEO0I
=703 H=E K& 8,000
d=aHAEHAT U3l 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 DIZHHALALSE 2 X 10,000 0 10,000
ONdIFLEHAZ U3 10,000
S 22 2 =S4 704,142 713,338 A9,196
d= =4 XA 704,142 713,338 A 9,196
201 LB-2d| 10,800 10,800 0
01 At 2t 2l 3,600 3,600 0
OXFZIR =4 2l
150,000& * 204 = 12& 3,600
02 =224l 7,200 7,200 0
OZXFFI=R &E=4 29 7,200
&= 41,6603 = 201 » 12& 1,000




fAH: S2st22 1
X delEXNSE ¥ dEHs |4
Sads 2B UL 84
SA - BB (3) - NRALY - BES Of & o8 il

=== 41,6603 * 204 = 123 1,000
-HZ=H 5,200
Rl = 693,342
=t - 2sRSE43 693,342
osd =29 284,964
-1s= 4,167,000& = 18 » 128 50,004
252 3,750,000& * 198 » 123 45,000
-3s=2 2,500,000& = 28 » 128 60,000
-4s2 2,166,000 = 5% » 123 129,960
Os4&sAl 500,000& = 9% = 12& 54,000
Osads 2| 2,000
Ofx=d= &= 5,000,000& = 3¢ 15,000

Os4ads dIEE
28,0008 * 9H » 409 »2%g 20,160
O=4 1=t 17,170
-SUS 150,000 » 98 * 23] 2,700
-g = 3,300
-2 3 1,650
-0ttt E 3 230,000 » 7 = 23] 3,220
-AT140 350,000 * 9Y% = 23] 6,300
OHILIA S0 107,076
-4 = 1,907,000& * 19 » 123 22,884
- == 1,480,000& = 3& » 12& 53,280
-S4l 369,000& » 4% » 12& 17,712
-2dH 200,000& = 4% = 123 9,600
-=3d 150,000& = 4% = 63l 3,600
OHILIA Tl =Y 4,500
-FLUS 150,000& = 3H =« 23| 900
-HEs 300,000 = 4% « 23] 2,400
233 150,000& = 4% = 23] 1,200
OHILIA 300,000& = 23 600
OHILIA 8&+=SZH| 60,0003 = 4% = 12 240
OHUA HX=EH 2,192,000& = 13 2,192
245 =&l 695,000& = 3¥ * 12& 25,020
os0igd =&l 500,000& = 5 = 12& 30,000
OagHd S5 4,000
-= 4 2,000,000& = 13 2,000
-HLA 2,000,000& = 13 2,000
OXFHIR EAS 42,420
Od= ¥ T sd243 10,000
Od=U3 ot 5,000
O2stxdi2g= 300,000& * 159 4,500
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Sl R4ML BB Y |4 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ofx=8== 4l 250,000& = 13¥ » 128 39,000
O=&% =&l 25,500
MetsZz Il 29 379,981 366,616 13,365
J| 134,855
< 18,356
s 226,770
SE =S ME NS X S A X 27,936 27,936 0
< 8,381
s 19,555
307 gl2tol & 27,936 27,936 0
< 8,381
s 19,555
02 PIZHEHAHEE 27,936 27,936 0
Ogerdax XAt b X 27,936
< 8,381
s 19,555
APt E X = X X BH X 152,928 152,928 0
J| 72,864
< 2,160
s 77,904
307 glz2+ol & 152,928 152,928 0
J| 72,864
< 2,160
i 77,904
02 HAFAANFEX 152,928 152,928 0
Oger MEXHSXE=X BiXl 152,928
J| 72,864
< 2,160
s 77,904
UM EH SIS B 101,952 101,952 0
J| 48,576
< 1,440
s 51,936
307 gl2tol & 101,952 101,952 0
J| 48,576
< 1,440
[ia 51,936
02 It S AHE L 101,952 101,952 0
Onz4 MEMSXEZX HHX 101,952
J| 48,576
< 1,440
[ 51,936
g0l =72nsy 249 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
02 It MAHEE 5,000 5,000 0
odgos7us 29 5,000
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2AMd: 2322
M AeEM=E L HENSs 4
cel: Msie s8R (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
23 M=z 28 N3 10,904 9,870 1,034
202 O4dl 4,604 3,570 1,034
01 2Lhottl 4,604 3,570 1,034
OM=slag:e =2 4,604
203 R F=&H| 6,300 6,300 0
03 Al EZ L R=FY| 6.300 6,300 0
OHEMSAHY =& 6,300
d=2 2 e M=Eta FIF X& 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0
Of= & T2 M=sUs =2t X2 25,000
S=ENSSHLUHe FIF X 4,000 4,000 0
307 ©I2+OI & 4,000 4,000 0
04 DIZFSHAIAIRI 2 = 4,000 4,000 0
Os=sNsa82Ha &t XA 4,000
AMOtetEUHS &I K& 20,000 20,000 0
307 2I2t0l A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OSdOI2tEUS &EIF XA 20,000
SSMdEMsUs 2ot XA 26,000 26,000 0
307 21201 A 26,000 26,000 0
04 QIZFHALAIH B & 26,000 26,000 0
Os=sdaxd=sts &t X3 26,000
ESEZMEOISHEHSUHE It XA 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Os=ZeletliSdaMsHE &It A 10,000
Hedexdsa &t X 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALAISE E X 5,000 5,000 0
OWgMeEr=stal ot A& 5,000
H2a MadsUsa &t X 7,000 7,000 0
307 2I2t0l A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
Oooza MEx=tia & X& 7,000
HMsSAE JIt=s 2 29 460,524 1,323,519 A 862,995
=AY 22 453,092 306,235 146,857




2N 222

I ﬂl%}\l/; lgtxzd & 29
el HSAIE 22 (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
ESMFLEH 2l 111,594 169,754 A 58,160
201 fEt2E | 82,134 84,134 A 2,000
01 At2 2t 2l bl 8,650 7,650 1,000
OFLES & FdES ¥ 3,000
O8XE HE 100,000& * 53] 500
ON=83 74 500
O3x&Hl M2 1,000
O=g3 ¥ 500,000& = 23 1,000
OANE=Z &= 300,000& = 53] 1,500
OdelHolE EIIEM =8
150,000& * 13 150
OsgLd 22 1,000
02 SE=24Hl 73,484 76,484 23,000
OAotd &3l 36,000& * 12 36
Ogstael X &3l 48,000¥ = 13 48
OZNERES(HE2) 400,0008 * 2% 800
Odsot== MER 300,000& * 12& 3,600
OFSIPAR=¥=3 3,500,000& » 12& 42,000
O2ge ®XH 12,000
OHMSAIZ2e|&EH S 2,000
O2= =Xl 5,000
OA£ &l |XH| 6,000
oblu=s=2d &0UEH 2,000
206 M =24l 8,000 5,000 3,000
01 24l 8,000 5,000 3,000
OHLAE A= ¥ 10,000% » 200% 2,000
O 2l 5,000& = 200 1,000
OFSE23=R=PNDN, Engel 5,000
307 glztol & 12,960 12,120 840
05 2zt & =3 12,960 12,120 840
ORUZHIAIAE KX 200,000 * 128 2,400
OdeclHiolE et 2tel 180,000& = 12 2,160
O&JI&Hl eta2te| 350,000 * 128 4,200
Oag&H =X2el 350,000& * 12 4,200
401 Al HI L 2T 8,500 68,500 260,000
01 A€ dl 8,500 68,500 A60,000
O2sMsHE =L 2+ 5,000
O M2 3,500
nsg2sd 2 157,959 54,939 103,020
201 LEr2 Y| 46,800 48,800 A2,000




2N 222

PRSI ﬂl%}\l/; lgtxd & 29
ool HSAL 2l (29 a8)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

01 At 22l ] 4,300 4,300 0
OoMsgs #+¢ 1,000
OFA & MEE P2 1,500
OANEZE &S 200,000& = 53] 1,000
Oo=sdl3 &4 400,000 * 23] 800

02 3524t 42,500 44,500 A 2,000
Oatel== AIE= 125,000 * 128 1,500
ONIIMNE=Z 1,200,000& = 12&€ 14,400
OA&E &l |l 10,000
OAHE RAlHI 10,000
OM=sAd 2el&H |F4l 3,000
Oo=tdideeg2 300,000& = 23] 600
OM=s A2 &Y S| 3,000

206 M= Hl 5,000 1,000 4,000

01 X2t 5,000 1,000 4,000
OSBRI 7 5,000

307 212t0| & 6,159 5,139 1,020

05 QI2tRE 2 6,159 5,139 1,020
ORoAHHIAIAE S XIH| 176,000 = 12&€ 2,112
O&EI|I &Yl o™ 2tel 137,200 * 128 1,647
Oagtddl A2 200,000& = 12& 2,400

401 Al B 2 0HHI 100,000 0 100,000

01 Al& H| 100,000 0 100,000
OAAILAHA UE ANE2 B 100,000
-2AE ANMNEZE B 100,000

HOIE=SE 22| 6,900 6,900 0

201 Bt A H| 6,900 6,900 0

02 3244l 6,900 6,900 0
ONIIMNEZ 300,000& = 12& 3,600
Oatelx AIE= 150,000& * 128 1,800
OA& ZHl SAldl 1,500,000& * 14 1,500

=T & 22 19,000 11,000 8,000

201 LBt A H| 14,000 11,000 3,000

01 At 22l ] 600 600 0
OFA % MEE 7Y 600,00021 * 14! 600

02 332 H| 13,400 10,400 3,000
OdJlz 8,400
-==& 400,000& = 12& 4,800
= 300,000& = 12& 3,600
OA&ZHl |Aldl 5,000,000& * 14 5,000




2N 222

g HI%AI/; gtx=d & 24
S MFAIE 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
206 M= Hl 5,000 0 5,000
01 =8l 5,000 0 5,000
OXEIRIsIM 7 5,000,000& * 14! 5,000
HAEdEZ=Z 22l 13,972 12,735 1,237
101 14l 3,572 3,335 237
04 JI2ZtHZ22 a2+ 3,572 3,335 237
O3dE=3a &Z &l 44,640 * 80 3,572
201 £Br2%H| 9,400 9,400 0
02 =24l 9,400 9,400 0
OFSPIPNE=3=2 200,000& = 12& 2,400
o9 = dl 1,000,000& * 14 1,000
OZHE KAl 1,000,000& * 14l 1,000
OA&EHl Sl 5,000,000& * 14! 5,000
206 = Hl 1,000 0 1,000
01 MHZ 4l 1,000 0 1,000
OSBRI sHH AL 1,000,000& * 14l 1,000
HsAE |X2c 41,009 31,752 9,257
101 @14 Hl 30,294 25,088 5,206
04 JIZHHZ2XNESE S+ 30,294 25,088 5,206
OMSAE A 44,6403 » 552 24,642
OM=AE Mz & &X 52,000& = 40 2,080
OdHAZ SA3FHI 44,640 * 80 3,572
202 o4dl 10,715 6,664 4,051
01 = LH 4 Hi 10,715 6,664 4,051
OMsSAE 2elge =2 10,715
Hs3d 2el 7,920 7,920 0
201 et 7,920 7,920 0
02 2324l 7,920 7,920 0
oLt =34 7,680
-&ll= 375,000& » 12& 4,500
-=E= 265,000& = 123 3,180
Og=zad =g 20,000& « 12& 240
=R 2l 6,600 6,600 0
201 LB-2E| 6,600 6,600 0
02 =224l 6,600 6,600 0
OFSPIE=1 400,000& = 12# 4,800
o=tz 150,000& * 122 1,800
ot 2el 4,872 4,635 237




2N

M HEANYE JetELd @ 29
2 HMSAAE 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
101 2121 H] 3,572 3,335 237
04 JI2ZtHIZ22NEE S 3,572 3,335 237
[@F=FAyeip=Nell 44 6402 x 80 3,572

201 et 9| 1,300 1,300 0

01 AR 22l ] 300 300 0
OFA & M E 300

02 2=2=24%H| 1,000 1,000 0
OA&ZH| |Xd| 1,000

S HSAAE 22 2,679 0 2,679
101 21 214| 2,679 0 2,679
04 JI2tHI22XNSE S 2,679 0 2,679

OMSAL =8 B4 o=
44 6404 « 4% % 15 2,679

=0HFHAE 22 80,587 0 80,587
101 Q121 H] 7,143 0 7,143
04 JI2ZtHIZ22ANEE S 7,143 0 7,143

ONMSAE HA 44 640 * 2% x 80¥Y 7,143
201 et 9| 56,884 0 56,884
01 At 2t2l ] 7,200 0 7,200
OHA U FMRE 2 3,000
Oodzsgs #*¢ 1,000
OANMEZE &S 300,0008 * 43| 1,200
Oosd3 34 500,000& = 43| 2,000
02 B232%H| 49,684 0 49,684
O&IIMNESZ 2,000,000& = 12& 24,000
OHsteE=Z AIEE 300,000& » 12€ 3,600
OAMYorE S O3l H| 36,000& = 13 36
ogtstael A &3yl 48,0008 * 13 48
OEAIAANEZ 1,000,000& * 12& 12,000
OA& ZH KXY 10,000
307 2iz2to| A 16,560 0 16,560
05 QIZ2tREF 2 16,560 0 16,560
O&I| &Yl et& 22| 350,000& = 12& 4,200
Oagtddl X224 280,000& » 12& 3,360
OR0IHHAIAE S22 ]
220,000& » 12& 2,640
OdelHolEe ot 22lh] 180,000& = 12& 2,160
OJIAAH| of™ 22|l 350,000& » 12& 4,200
HEANE B2 & B4 7,432 17,284 A9, 852
SHHEANE B 7,432 7,284 148
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